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-Ste3 300,000& * 122 3,600
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-= X 22| 4,000,000~ 122 48,000
-Ste3 479,000 123 5,748
-HJI23 490,000& <123 5,880
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ADIEEHEEAIAR CCTV 1,800
-Ste3 150,000« 12& 1,800
401 AlEHIZL SO 100,000 100,000
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UXE S) 100,000
02029 JHl & |Xl - 2l 120,000 120,000
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01 AlZ2H| 120,000 120,000
Oel0IE2+S AIEE RA & 2= 120,000
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HAZZOHHI| &X 35,000
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01 A28l 50,000 50,000
o5 FHEC X9 4=l 24
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Al 80,727
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79,4503 x4 H #2182 69,281
Al 69,281
IJIZENZ22 X REE S
300,000 x4 1,200
Al 1,200
22X S240=
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Al 1,200
INZEN RE22+E
79,4503 x4 H x22 *150% 954
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AHES FE= 8,092
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Al 3,269
=0ALES FE=
72,635,000 +3.545% 2,575
Al 2,575
NEEY FE=
72,635,000 *1.75% 1,272
Al 1,272
StATH 2 RFE=
72,635,000 +0.883% 642
Al 642
NQALE FE=S
2,575,000&%12.951% 334
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201 er2&y| 230,468 185,120 45,348
Al 230,468
01 At2teltl 82,425 70,030 12,3%
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Al 1,800
sdJ| =AE8I 150,000& * 122 1,800
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ool DR ¥ RE2 23 I (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AT AAE OHHS
4303 %1002 43
Il QA 2,530& 1,300 3,289
=& 0XAN 2,530 25021 633
- Mg DXIA 4302 +50021 215
HEE MEYIXA 43037504 323
A2 (NSHI D) 304,046 305,194 A1,148
Al 198,676
- 105,370
el 2| 198,676 230,303 A31,627
Al 198,676
QIHRHH|(FEUE0INESH) 198,676 188,652 10,024
Al 198,676
101 @124H| 178,764 169,474 9,290
Al 178,764
03 SRA(RIH )22 U2+ 178,764 169,474 9,290
U0l NESE WIHA 178,764
s 2,684,406 4 H 122 128,852
Al 128,852
- IEeE 60,0003 3 * 122 2,160
Al 2,160
- JHgAlll 140,000& x4« 123 6,720
Al 6.720
- 2SI 2,684,405 x4 2 +8(fk 8,591
Al 8,591
Axessted
15,0182 x4 x8A| 2+ 19 9,131
Al 9,131
- A25EE 20,0002 x1&8x 122 240
Al 240
A2 R5E
15,0183 x4 *16A1 2+ * 122 +150% 17,301
Al 17,301
- d1a0i= 3,605,045 *4H *40% 5,769
Al 5,769
M HASFESS 19,912 19,178 734
Al 19,912
04 SR (RIH)22N BE=RES S 19,912 19,178 734
=3 283 178,767,0002 *4. 5% 8,045
Al 8,045
=ALEE FE=
178,767 ,0002 *3.545% 6,338
Al 6,338
NEZE BE= 178,767 ,000& *1.75% 3,129
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A2 RE=
178,767 ,000& +0.883% 1,579
Al 1,579
Wlows 243
6.338,000&*12.951% 821
Al 821
Jl=23sl 105,370 74,891 30,479
JI=23Hl 105,370 74,891 30,479
201 etz 3| 40,570 38,315 2,255
01 At 2|l 25,240 22,985 2,255
FAEEH 4,000, 000& %95% 3,800
2E 2EONE 2t 2By EY
250,000& *4 =22 2,000
Jl2RRA SAHI
9,0003x641x30& * 123 19,440
02 S3=gHl 15,330 15,330 0
RS 15,330
&t 4302 *18,000A 7,740
S 2,530&+3,0004 7,590
202 04l 60,480 32,256 28,224
01 =LHAHI 60,480 32,256 28,224
A EH0H 280,000 *30 & » 122 «60f% 60,480
203 =8| 4,320 4,320
M FAZSHIFII 4,320 4,320
SARYARETY|
400,000 * 12 *90% 4,320




